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1. A: Why is the man shouting? B: Because ............................ .
a) he is very angry b) he is far from the woman
c) she can’t hear at all d) she can’t hear clearly
2. The woman thinks that she should see a doctor. a) True b) False
3. Why is she asking people to repeat themselves?
4. What is the problem according to what the man says?
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5. A: What was the problem with the woman’s computer? B: The battery was ................... .
a) broken b) full c) out of order d) low
6. The woman said the battery of her computer was .................... .
a) replaceable b) rechargeable c) convertible db&c
7. A: What was she looking for? B: She was looking for a/an.................... .
a) outlet b) computer c¢) radio d) TV set
8. Why couldn’t she watch the movie on her phone?
9. What did the woman need to finish watching the movie?
Yio W fraly couds diwlgS 5B 4 O lg &1 s 9 S (95 CBd @ T o)lod (T B @ 15 jael il | ¥
10. When speaker looks at his inbox, he gets stuck into reading and ............... to emails.
11.He hasa/an ................ email account and an account for work.

12. Does it take him a lot of time to answer the emails?
13. What does the man do with his unwanted emails?

14. What kind of approach does the man take with his work emails?
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a. There are lots of free apps that you don’t need to pay money to use them.
b. It is believed that hugging your child boosts the level of happiness.
c. Teenagers who help others are more successful in life.
d. Hydropower is produced as a result of falling or running water.
e. Tides can usually happen near any huge body of water like an ocean or a sea.
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introduction, dedicated, alphabetically, conditioner
19. A: Why is he so famous?
B: Because he is a/an............... university professor.
20. A: How do you keep this room cool?
B: We use a perfect air ............... to keep here cool.
21. A: How should we find a book written by a great poet at this library?
B: The books are arranged .................. by authors’ names.
Vb WS JolS 095 iilo 3l el gl adS LTy oy OMos | F
22. You should tell him the truth one day. You can’t keep it a secret f- - - - - - .
23. In order to be healthy, try to avoid foods that¢ - - - - - - a lot of fat.
24. The baby enjoys sitting on her mother's 1 - - .
v/5 | Grammar Y2
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25. A: Where is his car?
B: Thecar.................. is parked there belongs to him.
a) which b) when ¢) whom d) whose
26. A: Can she get a good mark now?
B: No, but she could get a good score if she ............... more.
a) have studied b) studied c) studies d) would study
27. There is a new building in the neighborhood. The workers................. it very well.
a) have built b) are built c¢) were built d) have been built
«pogw (& dxbo 30 OYlguw (5 aloh

Y




b dously

Y : olxio sloss CwOA P E g el

- Sl pole g Wloodl :al,
ol S)lro g pole

(F) ol L3 1 30 (25 oloxsiol Y15

Ad Yo : il o | abwgio g3 550 m23lg0 asly P Solgils pbg pb L V23 2% NP

&b

1VAQ Jlo oo olo 5

Cagh 30y sl yu (ool Bylna g pale — (Sl pole 9 Sludl 4iljg) oljgel il

0 yo0d (0,10 4ol Zwly) &Y lgw Ko,
28. Their sister bought a new dress at a very low price, ............... ?
a) doesn't she b) don't they c¢) didn’t she d) didn’t they
29. Heisnot very.................. , thus he doesn’t feel comfortable to talk to people.
a) communicatively b) communicate ¢) communication d) communicative
/o S g (JB gl jo 1) Jledl o S5O | A
30. His job became .................. difficult because of his illness. (increase)
31. They.......... the waste every night and send it to the landfill, don’t they? ( collect)
32. A: Is there any medicine for the disease?
B: A new medicine ............ by the doctors to cure it since last month. ( discover )
33. Smart phones and tablets ............ by lots of hard work some years ago. ( invent )
34. They would travel all over the world if they ........... rich. ( be )
f | Reading q
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Albert Einstein, a physicist, was born on March 14, 1879, in Germany. He could change people’s
understanding of the physical world, therefore, he has been considered as one of the greatest
thinkers in science. After graduating in 1900, Einstein had a hard time finding a job. He finally got a
job at the Swiss Patent Office in 1902. This job gave him the time to do some of his important
works like writing theoretic papers on physics, especially his Theory of Relativity.

He became a professor at the German University in Prague. He began working at the Prussian
Academy of Sciences in Berlin in 1914, and soon finished his work on his General Theory of
Relativity, which was published in 1916. Einstein was awarded the Nobel Prize for physics in 1921.
In 1933, he left Germany because of the strict rules of Hitler. He went to work at the Institute of
Advanced Study at Princeton University in New Jersey. He later became a U.S citizen. During
World War II, he wrote a letter to President Roosevelt expressing his worry about the atomic bomb.

After stopping his work in the institute in 1945, he spent much of his time giving lectures and
speeches and working on theories. In his final years, he lost his health. He was hospitalized with
stomach pains several times, and he died on April 18, 1955.

Choose the best answer.
35. Before the World War 11, Einstein left Germany and became a/an................... .

a) president b) American citizen c) physicist d) student
36. He died because ofhis ................
a) Relativity Theory  b) scientific research c) health problems  d) academic studies
True / False
37. His job helped him to think about his theory. a) True b) False
38. He found a job easily after graduation. a) True b) False

Answer the questions.
39. When was the Nobel Prize awarded to Einstein?
40. What did Einstein do for expressing his fear of the atomic bomb?
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All of our energy comes from the sun which is our nearest star. The sun sends out huge amounts of
energy through its rays every day. We call this energy solar energy or radiant energy. Life on earth
would not exist without the sun because our planet would become totally frozen. We use this solar
energy in many different ways. The sunlight lets us see and warms us. Plants use light from the sun
to grow and they store it as chemical energy. This process is called Photosynthesis. The energy is
stored in their roots, fruits, and leaves. This energy feeds every living thing on the earth. When we
eat plants and the food made from plants, the energy is stored in our bodies especially in our
muscles and brain cells. We use this energy for everything we do. We use energy when we sing a
song, think a thought, tell a joke or climb mountains. Everything needs energy.

Just as humans store energy in their bodies, the earth stores the sun's energy too. The sun's
energy has also been stored in coal, oil, and natural gases which are known as fossil fuels. We may
use the energy in these fossil fuels to make electricity. We light and heat our homes, schools, and
offices and also run our computers by electricity. Our cars and planes run on gasoline which comes
from oil. Fossil fuels are known as non-renewable sources of energy, so they can’t be used over and
over again. This means that one day they will run out!

Luckily, there are some renewable energy sources we can use, and we can keep using. Unlike
non-renewable fossil fuels, they will not run out. Three forms of renewable energy are: solar
energy, water energy and wind energy. Solar energy can be caught through solar panels. People put
solar panels on the top of houses to help capture the sun's energy and transform it into heat and
electricity. Water is also used to produce electricity. Wind is a third form of renewable energy.
Wind turbines can get the energy of the moving air and turn it into electricity. All these renewable
energy sources are essential for us because they will not run out, so we need to get better and better
at using them.

Choose the best answer.

41. What does “they” in paragraph3, line 2 refer to?
a) fossil fuels b) non-renewable energy sources
c¢) renewable sources of energy d) solar panels

42. What is this passage mostly about? It is about.................. '
a) how long it takes for light to reach the earth from the sun
b) the importance of energy for human life and where energy comes from
c) different types of non-renewable sources of energy used by people
d) how fossil fuels were formed
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True / False

43. Our nearest star is the source of all the energy we need on earth.
a) True b) False
44. The sun's energy can only be stored in the form of coal, oil, and natural gases.
a)True b)False
Answer the questions.
45. Where is energy stored in plants?
46. What are the three forms of renewable energy?
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47. You can use mobile dictionary, or a) I didn't have your number.
48. The roads were covered with ice, so b) I looked out.

49. I wanted to call you, but ¢) you can buy a pocket one.
50. I went to the window, and d) it was not safe to drive.

A

S Jol5 (but, and, so, or) by, ©ladS b, y 3 oy

Amin is a student, (51)....... he goes to a school near his house. He can come home by taxi,
(52)....... he can come on foot. He usually gets back on time, (53)........ yesterday he came home
late because one of his friends got sick, (54) ...... Amin waited until his friend’s father arrived.

\Y
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55.Plants...................... There are some plants which grow inside a house. They are cared for
each day with water and sunlight. On the other hand, there are some other types which grow with no
care from Human. These plants are easily found in nature. You can simply see different kinds of
plants throughout the world, on every continent. Some of them can only live in a few environments,

while others can live in almost any condition.

56. Vitamin D........................ . It is used by the body to form strong bones and teeth. That is
why growing children need it. It is called sunshine vitamin. Long before people knew what vitamin
D was, they learned that sunshine was important. As a result, it is a good idea to eat kinds of food

with Vitamin D or to have more sunshine to stay healthy.
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57. I may forgive myself for the accident, but it is very difficult to forget.
58. They really liked the combination of colors in my painting.
59. Scientists work effectively to find new ways to make life easier for us.
60. These days the demand for oil is decreasing in many areas in the country.
B
a. cry suddenly
b. the amount of a product or service that people want
c. in a way that is successful and achieves what you want
d. stop being angry with someone
€. an arrangement in a particular order
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57. Out of sight, out of mind
58. Too many cooks spoil the broth
59. Birds of a feather flock together
60. Practice makes perfect
B
f. People like to spend time with those who are similar to them.
g. When two people cooperate with each other, they come up with better ideas.
h. When there are too many people trying to lead and give their opinions, it’s confusing and leads to
bad results.
i. You soon forget people or things that are no longer visible or present.
j- You have to practice a skill a lot to become good at it.
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61. a) talking / to the neighbors / the woman / bought / that apartment / who / was / in the yard /.
L

b) met / their son / had / happy / after / his parents / they / became /.

I

62. a) a good runner / to practice / could be / if / free time / had / he / John / more/.
L

g

b) about / informed / they / today / must / the result / be /.
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Yol Y. False (b)
. Because she can’t hear well.
f. It might be something as simple as an infection / more serious.
0305 ) plaS 128 g A Jlow 0505 (/) plaS 2 ¥ G Jlgws
Yo | o.(d) . (b) v.(a)
A. Because her phone battery was running low. Y
4. She needed enough electricity to finish watching movie.
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V.. responding \\. personal Y
Yia yv. Yes, it does. It takes him a lot of time to answer the emails.
\v. He deletes them.
'f. He takes an organized approach with work emails.
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Y.. increasingly Y). collect Y'Y. has been discovered
Y'Y. were invented Y'f. were
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Ya. (b) Y#. (¢) Yv. (a) True YA. (b) False
¢

va. The Nobel Prize was awarded to Einstein for physicsin Y4 Y,
f.. He wrote a letter to President Roosevelt expressing his worry about the atomic bomb.
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¥ | £4. The energy is stored in their roots,/ fruits,/ and leaves.
¢, Three forms of renewable energy are: solar energy, water energy and wind
energy
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£1. (a) The woman_ who bought that apartmentlwas talking to the neighbors in the vard.
(+1Y0) (-1v0)
v (b) His parents became happy after they had met their son.
(+/0) (+/8)
£Y. (a) He could be a good runner if he had more free time to practice.
(+/0) (+/8)
(b) They must be informed about the result today.
((-/8) (+/8)
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